| Efficiency vs Dxy |

0.5
X
©
.45
>
20.4
D
@).35
0.3
0.25
0.2
0.15
0.1

eff

0.05

........................................................................

........................................................................

Q

Ratio

0.95

0.9

25D

0-15-10 =50 5 10 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

—=— DQMstep3_QCD_defaultCHECK

N 0.8

o
\‘

o
o))

efficiency vs d

© o © o

N w M U
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

o
=

....................................................................

...................................................................

.....................................................

Ratio
=)

0.95

0.9

=30

20 =10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


